
Funkce Derivace Df Df 0 Pozn�amka
(x+ a)n n(x+ a)n�1 R R a 2 C(R n f�ag pro n < 0) (R n f�ag pro n < 0) n 2 Zx� �x��1 R+ R+ � 2 Reax aeax R R a 2 C
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ax ax ln a R R a > 0
logax 1x ln a R+ R+ a 2 (0; 1)
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arcsinx 1p1� x2 [�1; 1] (�1; 1)
arccosx �1p1� x2 [�1; 1] (�1; 1)
arctgx 11 + x2 R R
arccotgx �11 + x2 R R
sinhx coshx R Rcoshx sinhx R R
tghx 1

cosh2 x R R
cotghx �1

sinh2 x R n f0g R n f0g
argsinhx 1p1 + x2 R R
argcoshx 1px2 � 1 [1;1) (1;1)
argtghx 11� x2 (�1; 1) (�1; 1)
argcotghx 11� x2 R n [�1; 1] R n [�1; 1]



Primitivn�� funkce De�ni�cn�� obor Pozn�amka
Z (x+ a)n dx = (x+ a)n+1n+ 1 + C R n f�ag, n < 0 n 6= �1, n 2 Z,

a 2 CZ x� dx = x�+1�+ 1 + C R+ � 2 R n f�1g
Z 1x+ a dx = ln jx+ aj+ C R n f�ag a 2 R
Z eax dx = 1aeax + C R a 2 C, a 6= 0
Z cosxdx = sinx+ C R
Z sinxdx = � cosx+ C R
Z 1cos2 x dx = tgx+ C �(2k � 1)�2 ; (2k + 1)�2

�;
k 2 ZZ 1

sin2 x dx = �cotgx+ C �k�; (k + 1)��;
k 2 ZZ 11 + x2 dx = arctgx+ C1 R

= �arccotgx+ C2
Z 1p1� x2 dx = arcsinx+ C1 (�1; 1)

= � arccosx+ C2
Z 1p1 + x2 dx = argsinhx+ C R

= ln(x+px2 + 1) + C
Z 1px2 � 1 dx = argcosh jxj � signx+ C R n [�1; 1]

= ln(jxj+px2 � 1) � signx+ C
Z coshxdx = sinhx+ C R
Z sinhxdx = coshx+ C R


